
Nr.

No.

Material-

nummer

Material 

number

Bezeichnung

Description

Abbildung

Picture

D
86

7-
19

09
22

D
86

7-
19

09
29

D
86

7-
19

09
42

D
86

7-
19

09
45

D
86

7-
29

09
22

D
86

7-
29

09
42

D
86

7-
29

09
45

Empfohlene Menge beim Kauf von 1 / 20 / 100 Maschinen

Recommended quantity when purchasing 1 / 20 / 100 machines

0271 001397
Druckfeder

Pretension spring
1 / 5 / 25 1 / 5 / 25 1 / 5 / 25 1 / 5 / 25 2 / 10 / 35 2 / 10 / 35 2 / 10 / 35

0867 114070
Wellenfeder

Spring
1 / 3 / 8 1 / 3 / 8 1 / 3 / 8 1 / 3 / 8 2 / 3 / 8 2 / 3 / 8 2 / 3 / 8

0467 110220
Spannungsscheibe 

Hauptspannung

Tension disc main tension
4 / 8 / 16 4 / 8 / 16 4 / 8 / 16 4 / 8 / 16 8 / 24 / 30 8 / 24 / 30 8 / 24 / 30

0037 001280
Spannungsscheibe

Vorspannung

Tension disc pretension
2 / 6 / 30 2 / 6 / 30 2 / 6 / 30 2 / 6 / 30 4 / 12 / 60 4 / 12 / 60 4 / 12 / 60

0867 114270
Anzugsfeder vorne

Jack spring front
- - - - 1 / 3 / 15 1 / 3 / 15 1 / 3 / 15

1 0867 114280
Anzugsfeder hinten

Jack spring back
1 / 3 / 15 1 / 3 / 15 1 / 3 / 15 1 / 3 / 15 1 / 3 / 15 1 / 3 / 15 1 / 3 / 15

4 0367 110340
Fadenziehrolle

Tension roller
2 / 3 / 15 2 / 3 / 15 2 / 3 / 15 2 / 3 / 15 4 / 6 / 20 4 / 6 / 20 4 / 6 / 20

9820 110050
Fadenklemm-Magnet

Thread clamp magnet
1 / 5 / 10 1 / 5 / 10 1 / 5 / 10 1 / 5 / 10 1 / 5 / 10 1 / 5 / 10 1 / 5 / 10

0291 000159
Fadenführung

Thread guide
2 / 5 / 25 2 / 5 / 25 2 / 5 / 25 2 / 5 / 25 - - -

9203 312412
Senkschraube M2,5 X 3

Sunk screw M2,5 X 3
5 / 10 / 25 5 / 10 / 25 5 / 10 / 25 5 / 10 / 25 - - -

0292 006903
Fadenführung

Thread guide
- - - - 1 / 5 / 25 1 / 5 / 25 1 / 5 / 25

0558 000060 A
Zylinderschraube M2,5 X 3,3

Cylinder Screw M2,5 X 3,3
- - - - 1 / 5 / 10 1 / 5 / 10 1 / 5 / 10

1

2

3

4

5

6

7

8

9

10

2, 3

5 - 7

8

9 - 12

Page 1 of 5

Verschleißteilliste für M-TYPE DELTA

Wear and tear parts list for M-TYPE DELTA

11

12

1, 4

Version 1 – 01/2021

Subject to design changes · Part of the machines shown with additional equipment · Wear and tear parts list for M-TYPE DELTA· DE/EN · 01/2021 Copyright © Dürkopp Adler GmbH · 2021 · All rights reserved · 
Reproduction or publication - even in extracts - is prohibited without prior written permission of Dürkopp Adler GmbH



14-16 17-19 20-22 23
13

Page 2 of 5

Nr.

No.

Material-

nummer

Material 

number

Bezeichnung

Description

Abbildung

Picture

D
86

7-
19

09
22

D
86

7-
19

09
29

D
86

7-
19

09
42

D
86

7-
19

09
45

D
86

7-
29

09
22

D
86

7-
29

09
42

D
86

7-
29

09
45

Empfohlene Menge beim Kauf von 1 / 20 / 100 Maschinen

Recommended quantity when purchasing 1 / 20 / 100 machines

9205 101827
Gewindestift M4 X 3

Thread pin M4 X 3
10 / 50 / 250 10 / 50 / 250 10 / 50 / 250 10 / 50 / 250 10 / 100 / 500 10 / 100 / 500 10 / 100 / 500

9202 100535
Senkschraube M5 X 10

Sunk screw M5 X 10
6 / 6 / 30 - 6 / 6 / 30 - 6 / 6 / 30 6 / 6 / 30 -

0667 355130
Gegenmesser FA

Counterknife TT
1 / 5 / 25 - 1 / 5 / 25 - 2 / 10 / 50 2 / 10 / 50 -

0667 355140
Klemmfeder FA

Fixing clamp TT
1 / 3 / 15 - 1 / 3 / 15 - 2 / 6 / 30 2 / 6 / 30 -

9202 001258
Zylinderschraube M2,6 X 6 

LFA

Cylinder screw M2,6 X 6 LTT
- 4 / 6 / 30 - - - - -

0367 350050
Gegenmesser LFA

Counterknife LTT
- 1 / 5 / 25 - - - - -

0367 350060
Klemmfeder LFA

Fixing clamp LTT
- 1 / 3 / 15 - - - - -

9202 002077
Zylinderschraube M4 X 10

Cylinder screw M4 X 10
- - - 3 / 3 / 15 - - 3 / 6 / 30

0867 354110
Gegenmesser KFA

Counterknife STT
- - - 1 / 5 / 25 - - 2 / 10 / 35

0867 354120
Klemmfeder

Fixing clamp
- - - 1 / 3 / 15 - - 2 / 6 / 20

9202 002067
Zylinderschraube M4 X 8

Cylinder screw M4 X 8
6 / 6 / 30 6 / 6 / 30 6 / 6 / 30 6 / 6 / 30 6 / 6 / 30 6 / 6 / 30 6 / 6 / 30

13

14

15

16

17

18

19

20

21

22

Verschleißteilliste für M-TYPE DELTA

Wear and tear parts list for M-TYPE DELTA

23

FA= Faden Abschneider LFA = Langfaden Abschneider KFA = Kurzfaden Abschneider

TT = Thread Trimmer LTT = Long Thread Trimmer STT = Short Thread Trimmer

1

2

1

2

1

2

3

4

3

4

3

4

3

4

5

6

5

6

Version 1 – 01/2021

Subject to design changes · Part of the machines shown with additional equipment · Wear and tear parts list for M-TYPE DELTA· DE/EN · 01/2021 Copyright © Dürkopp Adler GmbH · 2021 · All rights reserved · 
Reproduction or publication - even in extracts - is prohibited without prior written permission of Dürkopp Adler GmbH



Page 3 of 5

Nr.

No.

Material-

nummer

Material 

number

Bezeichnung

Description

Abbildung

Picture

D
86

7-
19

09
22

D
86

7-
19

09
29

D
86

7-
19

09
42

D
86

7-
19

09
45

D
86

7-
29

09
22

D
86

7-
29

09
42

D
86

7-
29

09
45

Empfohlene Menge beim Kauf von 1 / 20 / 100 Maschinen

Recommended quantity when purchasing 1 / 20 / 100 machines

9202 002077
Zylinderschraube M4 X 10

Cylinder screw M4 X 10
3 / 6 / 30 - 3 / 6 / 30 - 3 / 6 / 30 3 / 6 / 30 -

0867 354220
Fadenziehmesser

Threadpull knife
1 / 5 / 25 - 1 / 5 / 25 - 2 / 10 / 35 2 / 10 / 35 -

9202 001658
Zylinderschraube M3 X 6

Cylinder screw M3 X 6
- 4 / 6 / 30 - - - - -

0767 350350
Fadenziehmesser LFA¹

Threadpull knife LTT²
- 1 / 5 / 25 - - - - -

9202 042077
Zylinderschraube M4 X 10

Cylinder screw M4 X 10
- - - 3 / 6 / 30 - - 3 / 6 / 30

0867 354160 Fadenziehmesser KFA³
Threadpull knife STT

- - - 1 / 5 / 25 - - 2 / 10 / 35

0992 023560
Senkschraube M2 X 0,25

Sunk screw M2 X 0,25
3 / 5 / 25 3 / 5 / 25 3 / 5 / 25 3 / 5 / 25 6 / 10 / 50 6 / 10 / 50 6 / 10 / 50

0992 023577
Schraube M2 X 0,25

Screw M2 X 0,25
3 / 5 / 25 3 / 5 / 25 3 / 5 / 25 3 / 5 / 25 6 / 10 / 50 6 / 10 / 50 6 / 10 / 50

0992 016580
Zylinderschraube M2 X 5

Cylinder Screw M2 X 5
6 / 6 / 30 6 / 6 / 30 6 / 6 / 30 6 / 6 / 30 12 / 12 / 60 12 / 12 / 60 12 / 12 / 60

9205 102477
Gewindestift

Threaded pin
10 / 20 / 40 10 / 20 / 40 10 / 20 / 40 10 / 20 / 40 10 / 20 / 40 10 / 20 / 40 10 / 20 / 40

24

25

26

27

28

29

30

31

32

Verschleißteilliste für M-TYPE DELTA

Wear and tear parts list for M-TYPE DELTA

4

30-33

33

LFA= Langfaden Abschneider KFA = Kurzfaden Abschneider RFW = Restfadenwächter DLC = DLC-Beschichtung SSD = Fehlsticherkennung

LTT = Long Thread Trimmer STT = Short Thread Trimmer TM = Thread Monitor DLC = Diamond-Like Carbon coating SSD = Skip Stitch Detection

3

4

5

6

7

7

8

8

1

2

24, 25 26, 27 28, 29

Version 1 – 01/2021

Subject to design changes · Part of the machines shown with additional equipment · Wear and tear parts list for M-TYPE DELTA· DE/EN · 01/2021 Copyright © Dürkopp Adler GmbH · 2021 · All rights reserved · 
Reproduction or publication - even in extracts - is prohibited without prior written permission of Dürkopp Adler GmbH



Nr.

No.

Material-

nummer

Material 

number

Bezeichnung

Description

Abbildung

Picture

D
86

7-
19

09
22

D
86

7-
19

09
29

D
86

7-
19

09
42

D
86

7-
19

09
45

D
86

7-
29

09
22

D
86

7-
29

09
42

D
86

7-
29

09
45

Empfohlene Menge beim Kauf von 1 / 20 / 100 Maschinen

Recommended quantity when purchasing 1 / 20 / 100 machines

9047 008023
Spezialfett LR44-21

Special grease LR44-21
1 1 1 1 1 1 1

0867 150170
Druckfeder

Presser spring
2 / 5 / 25 2 / 5 / 25 2 / 5 / 25 2 / 5 / 25 4 / 10 / 50 4 / 10 / 50 4 / 10 / 50

0767 150590
Druckfeder

Presser spring
2 / 5 / 25 2 / 5 / 25 - - 2 / 5 / 25 - -

0467 150120
Spannungsfeder

Tension spring
1 / 5 / 25 1 / 5 / 25 - - 2 / 5 / 25 - -

0667 156440
Spannungsfeder

Tension spring
- - 1 / 5 / 25 1 / 5 / 25 - 2 / 5 / 25 2 / 5 / 25

0867 154380
Spule Ø 28 mm

Bobbin Ø 28 mm
5 / 50 / 250 5 / 50 / 250 - - 8 / 75 / 325 - -

0867 154320
Spule Ø 28 mm

Bobbin Ø 28 mm
5 / 50 / 250 5 / 50 / 250 - - 8 / 75 / 325 - -

0867 154570
Spule Ø 28 mm RFW

Bobbin Ø 28 mm TM
5 / 50 / 250 5 / 50 / 250 - - 8 / 75 / 325 - -

0867 154194
Greifer Ø 28 mm 

Hook Ø 28 mm 
1 / 3 / 15 1 / 3 / 15 - - 2 / 6 / 30 - -

0867 154544
Greifer Ø 28 mm DLC

Hook Ø 28 mm DLC
1 / 3 / 15 1 / 3 / 15 - - 2 / 6 / 30 - -

Page 4 of 5

34

35

36

37

38

39

40

41

42

43

Verschleißteilliste für M-TYPE DELTA

Wear and tear parts list for M-TYPE DELTA

5

6

35-43

7

7

34

LFA= Langfaden Abschneider KFA = Kurzfaden Abschneider RFW = Restfadenwächter DLC = DLC-Beschichtung SSD = Fehlsticherkennung

LTT = Long Thread Trimmer STT = Short Thread Trimmer TM = Thread Monitor DLC = Diamond-Like Carbon coating SSD = Skip Stitch Detection

Version 1 – 01/2021

Subject to design changes · Part of the machines shown with additional equipment · Wear and tear parts list for M-TYPE DELTA· DE/EN · 01/2021 Copyright © Dürkopp Adler GmbH · 2021 · All rights reserved · 
Reproduction or publication - even in extracts - is prohibited without prior written permission of Dürkopp Adler GmbH

3

4

5

6

7

7

8

8

1

2



46-53

Nr.

No.

Material-

nummer

Material 

number

Bezeichnung

Description

Abbildung

Picture

D
86

7-
19

09
22

D
86

7-
19

09
29

D
86

7-
19

09
42

D
86

7-
19

09
45

D
86

7-
29

09
22

D
86

7-
29

09
42

D
86

7-
29

09
45

Empfohlene Menge beim Kauf von 1 / 20 / 100 Maschinen

Recommended quantity when purchasing 1 / 20 / 100 machines

0667 175020
Messer

Knife
1 / 5 / 25 1 / 5 / 25 1 / 5 / 25 1 / 5 / 25 1 / 5 / 25 1 / 5 / 25 1 / 5 / 25

0271 000275
Spulenfeder

Spring
1 / 5 / 25 1 / 5 / 25 1 / 5 / 25 1 / 5 / 25 1 / 5 / 25 1 / 5 / 25 1 / 5 / 25

0867 150150
Spule Ø 32 mm

Bobbin Ø 32 mm
- - 5 / 50 / 250 5 / 50 / 250 - 8 / 75 / 325 8 / 75 / 325

0867 150560
Spule Ø 32 mm RFW

Bobbin Ø 32 mm TM
- - 5 / 50 / 250 5 / 50 / 250 - 8 / 75 / 325 8 / 75 / 325

0867 154264
Greifer Ø 32 mm

Hook Ø 32 mm
- - 1 / 3 / 15 - - 2 / 6 / 30 -

0867 154414
Greifer Ø 32 mm KFA

Hook Ø 32 mm STT
- - - 1 / 3 / 15 - - 2 / 6 / 30

0867 154504
Greifer Ø 32 mm DLC

Hook Ø 32 mm DLC
- - 1 / 3 / 15 - - 2 / 6 / 30 -

0867 154674
Greifer Ø 32 mm KFA  DLC

Hook Ø 32 mm STT  DLC
- - - 1 / 3 / 15 - - 2 / 6 / 30

0867 151200
Spule Ø 32 mm KFA SSD

Bobbin Ø 32 mm SST  SSD
- - - 5 / 50 / 250 - - -

0867 154854
Greifer Ø 32 mm KFA SSD

Hook Ø 32 mm STT SSD
- - - 1 / 3 / 15 - - -

Page 5 of 5

44

45

46

47

48

49

50

51

Verschleißteilliste für M-TYPE DELTA

Wear and tear parts list for M-TYPE DELTA

5

6

3

4

7

7

7

7

3

4

3

4

8

8

8

8

3

4

52

53

LFA= Langfaden Abschneider KFA = Kurzfaden Abschneider RFW = Restfadenwächter DLC = DLC-Beschichtung SSD = Fehlsticherkennung

LTT = Long Thread Trimmer STT = Short Thread Trimmer TM = Thread Monitor DLC = Diamond-Like Carbon coating SSD = Skip Stitch Detection

44, 45

Version 1 – 01/2021

Subject to design changes · Part of the machines shown with additional equipment · Wear and tear parts list for M-TYPE DELTA· DE/EN · 01/2021 Copyright © Dürkopp Adler GmbH · 2021 · All rights reserved · 
Reproduction or publication - even in extracts - is prohibited without prior written permission of Dürkopp Adler GmbH

3

4

5

6

7

7

8

8

1

2


